
ÅÅÅÅ∏π

t−O²�

± lÐUð ‡‡f(x) =
tan x

x
ÆrOM� sOOFð dH� —œ «— lÐUð s¹« bŠ rO¼«ušÅv� Æb¹dO~Ð dE" —œ «— 

∫qŠ∫r¹—«œ 

  

lim
x→0

tan x
x

= lim
x→0

sin x
xcosx

= lim
x→0

sin x
x

× lim
x→0

1

cosx

 t�Ås¹« tÐ tłuð UÐ

  

lim
x→0

sin x
x

=1 Ë 

  

lim
x→0

1

cosx
=1∫r¹—«œ 

  

lim
x→0

tan x
x

=1×1=1 ⇒  lim
x→0

tan x
x

=1

≤ lÐUð bŠ rO¼«ušÅv� ‡‡f(x) =
sin2x

x
ÆrOM�ÅsOOFð dH� —œ «— 

 lÐUðf(x) =
sin2x

x
  —u�ÅtÐ Ê«uðÅv� «— f(x) = 2×

sin2x
2x

∫fÄ ÆXýu" 

lim
x→0

sin2x
x

= lim
x→0

(2
sin2x

2x
) = 2× lim

x→0

sin2x
2x

= 2(1) = 2

∫t� œuýÅv� XÐUŁ vK� —uÞÅtÐ

lim
x→0

sin mx
x

= m Ë lim
x→0

tan mx
x

= m

 ‰U¦
±∫ lim
x→0

1− cos2x
x2

ÆbOM� t³ÝU×� «— 

∫qŠ∫r¹—«œ 

  

lim
x→0

1− cos2x

x2
= lim

x→0

2sin2 x

x2
= lim

x→0

2(
sin x

x
)2

= 2× lim
x→0

(
sin x

x
)2 = 2(1)2 = 2

 ‰U¦
≤∫ bŠ 

  

tan kx
coskx sin2x —œ   x =0 dÐ«dÐ ≤ —«bI� ÆXÝ« kÆbOM� sOOFð «— 

∫qŠ∫r¹—«œ 

  

lim
x→0

tan kx
coskx sin2x

= lim
x→0

sin kx

cos2 kxsin2x

  

= lim
x→0

1

cos2 kx
×

lim
x→0

sin kx
x

lim
x→0

sin2x
x
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=1× k
2
= k

2
 ⇒  

k
2
= 2  ⇒  k = 4ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ



ÅÅÅÅπ∞

 ‰U?¦?
≥∫t?³?ÝU?×?� È«d?Ð Ï 

  

lim
x→ π

6

sin(2x − π
3

)

x − π
6

  r?O?M?�Åv?� ÷d: 

  

x − π
6
= t —u?� s?¹« —œ ¨

  
2x −

π
3
= 2(x −

π
6

) = 2t∫Xý«œ rO¼«uš Ë œuÐ b¼«uš

  

lim
x→ π

6

sin(2x − π
3

)

x − π
6

= lim
t→0

sin2t
t

= 2

s¹d9

±ÆbOM� »U=Š «— d¹“ ÈU¼bŠ “« p¹d¼ ‡‡

  

lim
x→0

2

3x
sin

3

2
x ®»

  

lim
x→0

sin 3x
x

 ®nB«

lim
x→0

sin5x
3x

 ® 

  

lim
x→ π

3

sin(3x − π )

x − π
3

 ®Û

lim
x→a

sin(x − a)
x2 − a2

 ®Ãlim
x→0

tan x tan3x

3x2 ®À

lim
x→0

sin xsin2xsin 3x
x3

®Õ

  

lim
x→π

4

tan x −1

4x − π ®ı

  

lim
x→0

tan x − sin x

x3 ®Œ

≤ d¼ È«“« tÐ dÖ« ‡‡x rOýUÐ t²ý«œ 
  
2− x2 ≤ g(x) ≤2cosx lÐUð bŠ¨g(x)—œ «—   x =0sOOFð 

ÆbOM�

≥  È«“« tÐ bOM� ÷d: ‡‡  −1≤ x ≤1∫rOýUÐ t²ý«œ

5 −2x2 ≤ f(x) ≤ 5 − x2

 lÐUð bŠf(x) —œ «—   x =0ÆbOM� sOOFð 

¥ lÐUð bŠ ‡‡f(x) = x—œ «—   x =0ÆbOM� sOOFð 

t³ÝU×� —œ d¹“  UJ"ÏÆœdOÖÅv� —«dN ÁœUH²Ý« œ—u� U¼bŠ “« všdÐ 

± d?Ð U?¼ÅÈ«ÅtKLł bMÇ Èd¹cÄÅg$Ð ‡‡
  
x − x0∫  È«Åt?KLł bMÇ dÖ«     axn + bxn−1 +L+ lt?Ð 



ÅÅÅÅπ±

 È«“«
  
x = x0 œuý dH� dÐ«dÐ ®Å

  
x0 tA¹—Ï dÐ È«ÅtKLł bMÇ ¨©býUÐ È«ÅtKLłbMÇ 

  
x − x0 d¹cÄÅgVÐ XÝ«

t¹e& È«dÐ XO�Uš s¹« “«®ÏÆ©œd� ÁœUH²Ý« Ê«uðÅv� È«ÅtKLł bMÇ 

 ‰U¦
±∫ È«ÅtKLł bMÇ   2x2 + x − 3 È«“« tÐ   x =1È«ÅtKLł bMÇ s¹« fÄ ¨XÝ« dH� UÐ dÐ«dÐ 

 dÐ  x −1ÆXÝ« d¹cÄÅgVÐ 

  x =1
                  →   2(1)2 + (1) − 3 = 2+1− 3 =0

  2x2 + x − 3      
x −1

2x + 3
−2x2 +2x
           3x − 3

        −3x + 3                  ⇒2x2 + x − 3 = (x −1)(2x + 3)
              0

 ‰U?¦?
≤∫ È«Åt?K?L?ł bMÇ   x3 + 7x2 + 4x −12 È«“« t?Ð   x = −2 d?Ð f?Ä ¨X?Ý« d?H?� dÐ«dÐ 

  x +2                                                      ÆbýUÐÅv� d¹cÄÅgVÐ

œ È«ÅtKLł bMÇ —

  x = −2
                      →    (−2)3 + 7(−2)2 + 4(−2) −12 = −8 +28 − 8 −12 =0

  

x +2

x2 + 5x −6
 x3 + 7x2 + 4x −12

R =0

  ÊuÇ Ë  x
2 + 5x −6 = (x +6)(x −1)∫fÄ ¨

  x
3 + 7x2 + 4x −12 = (x +2)(x +6)(x −1)

 d?Ð U?¼ÅÈ«Åt?K?Lł bMÇ Èd¹cÄÅgVÐ pL� tÐ t� «— v¹U¼bŠ “« t"u/ bMÇ pM¹«
  
x − x0t³ÝU×� 

∫r¹—Ë¬Åv� d¹“ —œ b"uýÅv�

 ‰U¦
±∫ lÐUð bŠ 

  

q(x) = x2 + x −6

x −2
—œ «—   x = 2ÆbOM� sOOFð 

∫qŠ —œ d=� ÃdV� Ë  —u� ÊuÇ   x = 2 dÐ fÄ b"dH� dÐ«dÐ   x −2È«—«œ vMF¹ ̈ b"d¹cÄÅgVÐ 

 „d?²A� q�UŽ  x −2 Êu?Ç Ë ¨bMýUÐÅv�   x ≠ 2r¹—«œ   x −2 ≠0“« «— „d?²?A� q�UŽ s¹« Ê«uðÅv� Ë 

∫Xý«œ rO¼«uš s¹«dÐUMÐ ªœu/ ·cŠ d=� ÃdV� Ë  —u�

  

q(x) = (x −2)(x + 3)
x −2

= x + 3   ,   x ≠ 2

∫UłÅÊ¬ “« Ë

  

lim
x→2

x2 + x −6

x −2
= lim

x→2

(x + 3) = 2+ 3 = 5

È«ÅtKLł bMÇ —œ

x3 + 7x2 + 4x −12 = (x +2)(x2 + 5x −6)⇒

Ë



ÅÅÅÅπ≤

  l?ÐU?ð —«œu?/  x ≠ 2 ¨
  
q(x) = x + 3 U?¹   x ≠ 2 ¨

  
y = x + 3l?ÐU?ð b?Š t?� b?¼œÅv?� ÊU?A?" e?O" 

  

q(x) = x2 + x −6

x −2
—œ   x = 2 dÐ«dÐ µÆXÝ« 

 ‰U¦
≤∫ lÐUð bŠ 

  

q(x) = 2x3 + x2 +2x + 3

x2 − x −2
 —œ «—   x =1b¹—Ë¬ XÝœ tÐ Æ

∫q?Š —œ d?=?� Ãd?V� Ë  —u� ÊuÇ   x = −1 d?Ð f?Ä ¨b?"u?ýÅv?� dH�   x +1Ë b?"d?¹c?ÄÅgVÐ 

∫Xý«œ rO¼«uš

2x3 + x2 +2x + 3

x2 − x −2
= (x +1)(2x2 − x + 3)

(x +1)(x −2)
= 2x2 − x + 3

x −2

lim
x→−1

2x3 + x2 +2x + 3

x2 − x −2
= lim

x→−1

2x2 − x + 3

x −2
= 2(−1)2 − (−1) + 3

(−1) −2
= 6

−3
= −2

≤∫U¼d&' Êœd' U¹uÖ ‡‡ ÈU¼ÅlÐUð dÖ« f(x) Ë g(x)—œ U¼ÅÊ¬ bŠ Ë bMýUÐ r�« ¨Ëœ d¼ U¹ vJ¹ ¨ 

  
x = x0

t³ÝU×� È«dÐ ÁUÖÅÊ¬ ̈ býUÐ dH� dÐ«dÐÏ lÐUð bŠ q(x) = f(x)
g(x)

—œ 
  
x = x0

d¼ U¹ ÃdV� U¹  —u� 

ÆrOM�Åv� U¹uÖ «— Ëœ

ÆbOM� tłuð d¹“ ÈU¼Å‰U¦� tÐ

 ‰U¦
±∫ lÐUð bŠ 

  

f(x) = x + 4 −2

x
—œ   x =0øb¹¬Åv� XÝœÅtÐ t"u~Ç 

O 1 2

5

y

x



ÅÅÅÅπ≥

—œ t� b¼œÅv� ÊUA" ‰Ëbł s¹«  x =0 lÐUð bŠ 

x + 4 −2

x
 dÐ«dÐ 

  

1

4
ÆXÝ« 

—œ ôUÐ d=� ÃdV� Ë  —u� bŠ ÊuÇ v:dÞ “«  x =0lÐUð bŠ sOOFð È«dÐ fÄ XÝ« dH� dÐ«dÐ 

 —œ «— d=� —uEM�Ås¹bÐ ÆrOM�Åv� ÁœUH²Ý« d=�  —u� Êœd� U¹uÖ “«

  

1= x + 4 +2

x + 4 +2
ÆrOM�Åv� »d{ 

∫Xý«œ rO¼«uš

  

f(x) = x + 4 −2

x
= ( x + 4 −2)( x + 4 +2)

x( x + 4 +2)
= (x + 4) − 4

x( x + 4 +2)

f(x) = x
x( x + 4 +2)

= 1

x + 4 +2
      ,     x ≠0

  

lim
x→0

f(x) = lim
x→0

x + 4 −2

x
= lim

x→0

1

x + 4 +2
= 1

4

 ‰U¦
≤∫ lÐUð bŠ 

  

q(x) = x2 −9

3 − x +6
—œ   x = 3Æb¹¬Åv� XÝœÅtÐ d¹“  —u�ÅtÐ 

∫qŠ—œ d=� ÃdV� Ë  —u� bŠ ÊuÇ   x = 3d=� ÃdV� ̈ lÐUð bŠ sOOFð È«dÐ fÄ XÝ« dH� 

ÆrOM�Åv� U¹uÖ «—

x2 −9

3 − x +6
= (x2 −9)(3 + x +6 )

(3 − x +6 )(3 + x +6 )
= (x − 3)(x + 3)(3 + x +6 )

3 − x

  
= −(x + 3)(3 + x +6)

ÅÅÅÅÅÅÅÅÅÅÅÅÅ

 ‰U¦
≥∫ lÐUð bŠ 

  

q(x) = 2− x −1

2x −1− 3
 —œ «—   x = 5Æb¹—Ë¬ XÝœÅtÐ 

  

⇒ lim
x→3

x2 −9

3 − x +6
= lim

x→3

− (x + 3)(3 + x +6 )

= −(3 + 3)(3 + 9) = −36

    

x L −1 −0 / 9 0 / 5 0 / 1 0 / 01 0 / 001 L→ 0 L ← 0 / 001 0 / 01 0 / 1 0 / 5 0 / 9 1 L

f (x) L 0 / 2679 0 / 2659 0 / 2583 0 / 2516 0 / 2502 0 / 25002 L→ L ← 0 / 2499 0 / 2498 0 / 248 0 / 241 0 / 237 0 / 236 L

∫qŠt³ÝU×� UÐ «b²Ð« Ï —«bI� f(x) d¹œUI� “« všdÐ È«dÐ x‰Ëbł b"uýÅv� p¹œe" dH� œbŽ tÐ t� 

ÆrO¼œÅv� qOJAð «— d¹“



ÅÅÅÅπ¥

∫qŠÆrOM�Åv� U¹uÖ «— d=� ÃdV� r¼ Ë d=�  —u� r¼ ¨bŠ sOOFð È«dÐ 

  

= −(x − 5)( 2x −1+ 3)
2(x − 5)(2+ x −1)

= −( 2x −1+ 3)
2(2+ x −1)

         (x ≠ −5)ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

  

lim
x→5

2− x −1

2x −1− 3
= lim

x→5

− 2x −1+ 3

2(2+ x −1)
= − 10−1+ 3

2(2+ 5 −1)
= −6

8
= −3

4
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

s¹d9

ÆbOM� »U=Š «— d¹“ ÈU¼bŠ “« p¹d¼

  

lim
x→1

x2 +2x − 3

x −1
 ®»

  

lim
x→4

x − 4

x2 − 5x + 4
 ®nB«

  

lim
x→1

x2 −2x +1

2x2 + x − 3
 ® 

  

lim
x→−1

x2 − x −2

x2 −2x − 3
 ®Û

  

lim
x→3

x2 −9

x2 − 5x +6
 ®Ã

  

lim
x→−1

3x3 + x2 + x + 3

x2 +2x +1
 ®À

  

lim
x→1

x3 − 3x2 + 3x −1

x2 −2x +1
 ®Õ

  

lim
x→−2

3x2 −12

2− x − x2
 ®ı

  

lim
x→−2

x + x +6

x +2
 ®œ

  

lim
x→1

x4 −2x +1

2x2 − 3x +1
 ®Œ

  

lim
x→0

+

x
x

 ®—

  

lim
x→4

x −2

4− x
 ®–

  

lim
x→−2

2x + x +18

3x + 7 −1
 ®˛

  

lim
x→−5

x + 5

3x +16 −1
 ®“

bŠ rOLFð

 lÐUð rO"«œÅv�

  

f(x) =
1

xd?H?� vB«uŠ —œ Ê¬ —«œu/ rÝ— È«dÐ Ë XÝ« ÁbA" n¹dFð dH� —œ 

 È«d?Ð d?H?� p?¹œe?" ÈU?¼—«bI� È«“« tÐ ÆrOM� vÝ—dÐ dH� vB«uŠ —œ «— lÐUð s¹« —U²:— XÝ« d²NÐx

ÈU¼—«bI� t� XÝ« sýË—

  

1

x ÈU?¼—«bI� tÇd¼ Ë b"uýÅv� ¯—eÐ —UO=Ð xr?OM� dðÅp¹œe" dH� tÐ «— 

  

2− x −1

2x −1− 3
= (2− x −1)( 2x −1+ 3)(2+ x −1)

( 2x −1− 3)( 2x −1+ 3)(2+ x −1)
= (4− x +1)( 2x −1+ 3)

(2x −1−9)(2+ x −1)



ÅÅÅÅπµ

 ÈU¼—«bI�

  

1

xÆb¼œÅv� ÊUA" «— VKD� s¹« v²Ý—œ d¹“ ‰Ëbł Æbý bM¼«uš dðÅ¯—eÐ 

  

x −0/1 −0/01 −0/001 → 0 ← 0/001 0/01 0/1
1

x
10 100 1000 → ← 1000 100 10

d?¹“ q?J?ý t?Ð d?H?� v?B«u?Š —œ l?ÐUð s¹« —«œu/ t� œ«œ hOVAð Ê«uðÅv� ‰Ëbł s¹« o¹dÞ “«

ÆXÝ«

x →

→

x→

f (x)

x

y

 dOG²� Êbý p¹œe" UÐx ÈU¼—«bI� dH� tÐ ©lÐUð tM�«œ —œ® 

  

1

x t� È«Åt"uÖÅtÐ b"uýÅv� ̄ —eÐ 

  

1

x

 t� Ê¬ ◊dý tÐ œuý dðÅ¯—eÐ È«ÅÁbý Áœ«œ gOÄ “« œbŽ d¼ “« b"«uðÅv�xp¹œe" dH� tÐ v:U� Á“«b"« tÐ 

 Êbý p¹œe" UÐ rO¹uÖ XBUŠ s¹« —œ ÆbýUÐ Ábýx¨dH� tÐ 

  

1

x XLÝ tÐ +∞—œ lÐUð s¹« bŠ Ë œË—Åv� 

 dH�+∞∫rO=¹u"Åv� Ë XÝ« 

  

lim
x→0

1

x
= +∞

 lÐUð d¼ È«dÐ vK� —uÞÅtÐy = f(x) Á“UÐ ÈË— t� I tDI" Ë býUÐ Ábý n¹dFð at� býUÐ È«Åt"uÖÅtÐ 

 qš«œ “« Ê«u²ÐI tÐ a dOG²� Êbý p¹œe" UÐ Ë bý p¹œe" x tÐ ©lÐUð tM�«œ —œ® aÈU¼—«bI�  f(x)¯—eÐ 

 t� È«Åt"uÖÅtÐ b"uýÅv�f(x) t?� Ê¬ ◊dý tÐ œuý dðÅ¯—eÐ È«ÅÁbý Áœ«œ gOÄ “« œbŽ d¼ “« b"«u²Ð xtÐ 

 tÐ v:U� Á“«b"«a Êbý p¹œe" UÐ rO¹uÖÅv� XBUŠ s¹« —œ ÆbýUÐ Ábý p¹œe" x tÐ a ̈f(x) XLÝ tÐ +∞

 —œ lÐUð s¹« bŠ Ë œË—Åv�a ¨+∞∫rO=¹u"Åv� Ë XÝ« 

lim
x→a

f(x) = +∞

 dOG²� Êbý p¹œe" UÐ œ—«u� všdÐ —œx bM"U� È«ÅtDI" tÐ ©lÐUð p¹ tM�«œ —œ® alÐUð ÈU¼—«bI� 



ÅÅÅÅπ∂

ö¦� Æb"uýÅv� d²L� È«ÅÁbý Áœ«œ gOÄ “« œbŽ d¼ “«Î lÐUð œ—u� —œ 

  

y = −
1

x Êbý p¹œe" UÐ xdH� tÐ 

ÆXÝ« d¹“ qJý tÐ lÐUð s¹« —«œu/ Æb"uýÅv� d²L� È«ÅÁbý Áœ«œ gOÄ “« œbŽ d¼ “« lÐUð ÈU¼—«bI�

x →

→

x→

f (x)

x

y

y

 Êb?ý p?¹œe" UÐ bM¹uÖÅv� vðôUŠ sOMÇ —œx tÐ a ¨f(x) X?LÝ tÐ −∞ —œ lÐUð s¹« bŠ Ë œË—Åv� a¨

−∞∫rO=¹u"Åv� Ë XÝ« 

                                                   
lim
x→a

f(x) = −∞

 ‰U¦� È«dÐ

  

lim
x→0

−
1

x
= −∞

 t� v²BUŠ —œa dOG²� Ë býUÐ lÐUð tM�«œ v"UO� tDI" p¹ x “« dðÅ¯—eÐ d¹œUI� UÐ jI: a tÐ aœuý p¹œe" 

 ÈU¼—«bI� Ëf(x) —œ lÐUð XÝ«— bŠ rO¹uÖÅv� b"uý dðÅ¯—eÐ È«ÅÁbý Áœ«œ gOÄ “« œbŽ d¼ “« a ̈+∞

∫rO=¹u"Åv� Ë XÝ«

lim
x→a

+
f(x) = +∞

 dOG²� dÖ« Ëx “« dðÅpÇu� d¹œUI� UÐ jI: a tÐ a ÈU¼—«bI� Ë œuý p¹œe" f(x)gOÄ “« œbŽ d¼ “« 

È«ÅÁbý Áœ«œ —œ lÐUð éÇ bŠ rO¹uÖÅv� b"uý dðÅ¯—eÐ a ¨+∞∫rO=¹u"Åv� Ë XÝ« 

lim
x→a

−
f(x) = +∞

 —«bI� UÐ éÇ Ë XÝ«— ÈU¼bŠ tÐUA� —uÞÅtÐ−∞Æb"uýÅv� n¹dFð 

 lÐUð È«dÐ ‰U¦� È«dÐ

  
y =

1

x
∫r¹—«œ 

  

lim
x→0

+

1

x
= +∞ , lim

x→0
−

1

x
= −∞

 ‰U?¦
±∫  U?B?²?V?� ÈU¼—u×� ÁU~²Ýœ —œ xoyt?DI" “« ¨Ï   A = (1,2)U?ð r?O?M?�Åv� rÝ— vDš 



ÅÅÅÅπ∑

 YK¦� Ëœ tÐUAð “« ÁœUH²Ý« UÐOM ′M Ë ABM∫rO=¹uMÐ rO"«uðÅv� 

  

BM
OM

=
AB

O ′M
⇒

x −1

x
=

2

y
⇒  y =

2x
x −1

� —u×xtDI" —œ «— U¼Ï   M = (x,0) ¨  x > 1 —u×� Ë ªytDI" —œ «— U¼Ï 
  

′M = (0, y)XŠU=� ÆbM� lDN 

 YK¦�OM ′M tÐ «— SOM ′M ÆrO¼œÅv� ÊUA" ®©d¹“ qJý

t?D?I?" ‰uŠ —u�c� jš v²NËÏ At?D?I?" t� bM� Ê«—Ëœ ÊUMÇ Ï Mt?DI" tÐ Ï 
  
B(1,0)¨œu?ý p¹œe" 

 l?N«Ë—œ® b?M�Åv� dOOGð YK¦� XŠU=�x œb?Ž tÐ XÝ«— ·dÞ “« ± Á—«u?L¼ vBË œuýÅv� p¹œe"   x ≠1

 dÖ« «d¹“ XÝ«  x =1ÆXý«œ b¼«uV" œułË v¦K¦� ¨býUÐ ©

′M (0, y )

A(1,2)

M(x , )B(1,0)
x

y

O 0

B M(x , )

A(1,2)

′M ( ,y )

y

x

0

O 0



ÅÅÅÅπ∏

 Êbý p¹œe" UÐ ̈ œuýÅv� Áb¹œ t� È—uÞÅtÐx œbŽ tÐ ± —«bI� f(x) ÁUÖd¼ Ë bÐU¹Åv� g¹«e:« x—bNÅtÐ 

 œbŽ tÐ v:U�± —«bI� ̈ œuý p¹œe" f(x)fÄ Æbý b¼«uš dðÅ¯—eÐ È«ÅÁbý Áœ«œ gOÄ “« X³¦� œbŽ d¼ “« 

 rO¹uÖÅv� ¨n¹dFð tÐ UMÐf(x) XLÝ tÐ +∞ ∫vMF¹ ÆœË—Åv�

  

lim
x→1

+
SOM ′M = +∞

 ‰U?¦
≤∫ lÐUð (x ≠0) f(x) =
1

x2
 ÈU?¼—«b?I� Ë r¹dOÖÅv� dE"—œ «— f(x) È«d?Ð «— xt?Ð t� v¹U¼

ÆrO=¹u"Åv� d¹“ ‰Ëbł —œ Ë rOM�Åv� t³ÝU×� b"uýÅv� p¹œe" dH�

 YK¦� XŠU=� s¹«dÐUMÐOM ′M∫UÐ XÝ« dÐ«dÐ 

  
SOM ′M =

1

2
OM.O ′M =

1

2
x.y =

1

2
x ×

2x
x −1

=
x2

x −1

SOM ′M = f(x) =
x2

x −1

 dÖ« ‰UŠx “« dðÅ¯—eÐ t�® ± tÐ XÝ«— ·dÞ “« ©XÝ« ±∫Xý«œ rO¼«uš ¨œuý p¹œe" 

 v²NË œuýÅv� Áb¹œ t� È—uÞÅtÐxd?¹œUI� ¨œuýÅv� p¹œe" dH� œbŽ tÐ éÇ U¹ XÝ«— ·dÞ “« 

f(x) d?Ö« Ë b?"uýÅv� ¯—eÐ Z¹—bðÅtÐ x —«b?I?� ¨œuý p¹œe" —UO=Ð dH� œbŽ tÐ f(x)¯—e?Ð —UO=Ð eO" 

 l?ÐU?ð s?¹«d?ÐU?M?Ð Æbý b¼«ušf(x) =
1

x2
 v?²NË x X?L?Ý t?Ð ¨œu?ýÅv?� p?¹œe?" dH� tÐ +∞Ë œË—Åv� 

∫rO=¹u"Åv�

lim
x→0

f(x) = lim
x→0

1

x2
= +∞

 —œ «— lÐUð s¹« bŠ ¨—«œu/ “« ÁœUH²Ý« UÐ pM¹«  x =0ÆrOM�Åv� vÝ—dÐ 

ÁbA" n¹dFð

x −2 −1 − 1

2
   0   

1

2
1 2

y
1

4
1 4 4 1

1

4

x 1      ←   L ← 1/00001 1/0001 1/001 1/01 1/1 1/ 5 2 L

f (x) +∞   ←   L ← 100002 10002 1002 102 12 /1 4 / 5 4 L

x L −1 −0/ 2 −0/1 −0/01 −0/001 −0/0001 L→ 0 L ← 0/0001 0/001 0/01 0/1 0/ 2 1 L

f (x) L 1 25 10
2

10
4

10
6

10
8 L→ +∞ L ← 10

8
10

6
10

4
10

2
25 1 L



ÅÅÅÅππ

 v²NË t� b¼œÅv� ÊUA" eO" lÐUð —«œu/x ¨œuýÅv� p¹œe" dH� tÐ f(x) XLÝ tÐ +∞ÆœË—Åv� 

 ‰U¦
≥∫ lÐUð bŠ f(x) =
−5

(x −2)2
 —œ «—   x = 2ÆbOM� sOOFð 

∫qŠ ÈU¼—«bI� “« vCFÐ È«dÐ «— lÐUð ÈU¼—«bI� d¹“ ‰Ëbł x œbŽ p¹œe" ≤Æb¼œÅv� ÊUA" 

 v²NË œuýÅv� Áb¹œ t� È—uÞÅtÐx œbŽ tÐ éÇ U¹ XÝ«— ·dÞ “« ≤ ÈU¼—«bI� ̈ œuýÅv� p¹œe" f(x)

 v²NË Ë ̈ b"uýÅv� r� Z¹—bðÅtÐx œbŽ tÐ v:U� —bNÅtÐ ≤ ̈ œuý p¹œe" f(x)d²L� È«ÅÁbý Áœ«œ vHM� œbŽ d¼ “« 

 v²NËôUÐ lÐUð —œ t� XHÖ Ê«uðÅv� n¹dFð tÐ UMÐ ¨s¹«dÐUMÐ Æbý b¼«ušx tÐ ≤œuýÅv� p¹œe"  ¨f(x)XLÝ tÐ 

−∞∫rO=¹u"Åv� Ë œË—Åv� 

lim
x→2

f(x) = lim
x→2

−5

(x −2)2
= −∞

O−1−2 1 2
x

y

−
1

2

1

2

    

x L 1 1 / 5 1 / 9 1 / 99 1 / 999 L→ 2 L ← 2 /001 2 /01 2 /1 2 / 5 3 L

f (x) L −5 −20 −500 −5 ×10
4 −5 ×10

6 L→ −∞ L ← − 5 ×10
6 −5 ×10

4 −500 −20 −5 L



ÅÅÅÅ±∞∞

 —œ «— lÐUð s¹« bŠ ¨—«œu/ “« ÁœUH²Ý« UÐ pM¹«  x = 2ÆrOM�Åv� vÝ—dÐ 

/ v²NË t� b¼œÅv� ÊUA" eO" lÐUð —«œux œbŽ tÐ ≤ ¨œuýÅv� p¹œe" f(x) XLÝ tÐ −∞ÆœË—Åv� 

 ‰U¦
¥∫ bŠ 7:U¹ È«dÐ f(x) =
1

x −1
 —œ   x =1ÆrO¼œÅv� qOJAð «— d¹“ ‰Ëbł 

 t?� v�U~M¼ ¨œuýÅv� Áb¹œ t� È—uÞÅtÐx œb?Ž tÐ éÇ ·dÞ “« ± d?¹œUI� ¨œuýÅv� p¹œe" f(x)

 v?²?NË Ë b?‡"uýÅv� r� Z‡¹—bðÅt‡Ðx œb?Ž t?‡Ð v:U� Á“«b"« tÐ ± ¨œu?ý p¹œe‡" f(x)v?H?‡M� œb‡Ž d‡¼ “« 

d²L� È«ÅÁbýÅÅÅÅÁœ«œ fÄ Æbý b¼«uš f(x) XLÝ tÐ −∞∫vMF¹ œË—Åv� 

  

lim
x→1

−
f(x) = lim

x→1
−

1

x −1
= −∞

 v?²NËx œb?Ž t?Ð X?Ý«— ·dÞ “« ± d?¹œU?I?� ¨œu?ýÅv� p¹œe" f(x)¯—e?Ð Z?¹—b?ðÅtÐ Ë b?"uýÅv� 

 t?� v?�U~M¼x œb?Ž tÐ ± —«b?I?� ¨œu?ý p?¹œe" v:U� Á“«b"« tÐ f(x)d?ðÅ¯—e?Ð È«ÅÁb?ý Áœ«œ œbŽ d¼ “« 

n¹dFð

ÁbA"

  

x −1 0 1 1/ 5     2    2 / 5 3 4

f (x) −
5

9
−

5

4
−5 −20 −20 −5 −

5

4

y

O
1 4

x
21/5 2/5

−5

    

x 0 0/ 5 0/ 9 0/ 99 0/ 999 L →   ← L 1/001 1/01 1/1 1/ 5 2 L

f (x) −1 −2 −10 −100 −1000 L →                 ← L 1000 100 10 2 1 L
 

                                                                       − ∞    + ∞

±



ÅÅÅÅ±∞±

R

h

 fÄ Æbý b¼«ušf(x) XLÝ tÐ +∞∫XBUŠ s¹« —œ vMF¹ ÆœË—Åv� 

  

lim
x→1

+
f(x) = lim

x→1
+

1

x −1
= +∞

 lÐUð —œ s¹«dÐUMÐf(x) =
1

x −1
 v²NË x œbŽ tÐ ±∫r¹—«œ œuýÅv� p¹œe" 

  

lim
x→1

−
f(x) =

1

x −1





 = −∞    ,    lim

x→1
+

f(x) =
1

x −1





 = +∞

Æb¼œÅv� ÊUA" «— ôUÐ  U³ÝU×� v²Ý—œ eO" lÐUð  «dOOGð —«œu/

 ‰U¦
µ∫ XÐUŁ r−Š tÐ È«Åt"«u²Ý« VÁbŽUN ŸUFý ÆXÝ« Ábý Áœ«œ Ï «— t"«u²Ý« R«— Ê¬ ŸUHð—« Ë 

hÁbŽUN ŸUFý t� v�U~M¼ «— t"«u²Ý« ŸUHð—«  «dOOGð rO¼«ušÅv� ÆrO�U"Åv� ÏvÝ—dÐ ̈ bM�Åv� dOOGð t"«u²Ý« 

ÆrOM�

∫t� rO"«œÅv�

 ŸUHð—«× ÁbŽUN XŠU=� =t"«u²Ý« r−Š 

∫s¹«dÐUMÐ

  

V = π R2 × h   ⇒  h =
V

π R2

x −1 0
1

2
   1   

3

2
2 3

f(x) − 1

2
−1 −2 2 1

1

2

n¹dFð

ÁbA"

1 1/5 2 3
x

y

1

2

−1

O

−1

−2



ÅÅÅÅ±∞≤

�«ÒtM�«œ UÏ  «dOOGð RÁ“UÐ Ï   (0,+∞ )∫s¹«dÐUMÐ XÝ« 

lim
R→0

+
h = lim

R→0
+

V
π R2

= +∞

 XOL� Ëœ fÄR Ë h ÁU?Öd?¼ t� b"«Åt²=Ð«Ë d~¹bJ¹ tÐ ÊUMÇ R œuý p¹œe" dH� tÐ hXLÝ tÐ 

+∞ÆœË—Åv� 

 ‰U?¦?
∂∫ l?ÐU?ð Ëœ bŠ 
  
f
1
(x) = x − 3 Ë 

  

f
2
(x) =

1

f
1
(x)

=
1

x − 3
—œ «—   x = 3t?³?ÝU?×?� UÐ Ï

 d¹œUI�
  
f
1
(x) Ë 

  
f
2
(x) UÐ dþUM²� x p¹œe" ÈU¼≥ÆrOM�Åv� sOOFð d¹“ ‰Ëbł pL�ÅtÐ 

 œuýÅv� Áb¹œ t� È—uÞÅtÐ

  

lim
x→3

(x − 3) =0 U�« lim
x→3

1

x − 3
 UÐ XÝ« dÐ«dÐ +∞ U¹ −∞dÐUMÐ ¨

 t�ÅÊ¬x tÐ éÇ ·dÞ “« U¹ XÝ«— ·dÞ “« ≥Æœuý p¹œe" 

∫t?²J� t?� rO"«œÅv� 

  

lim
x→0

x2 =0 Ë lim
x→0

1

x2
= +∞ X?O?¼U� —œ U¼bŠ t"uÖÅs¹« ◊U³ð—« Æ U¼d=�

v?� d?ðÅ¯—e?Ð d?=?� —«b?I� ¨œuýÅv� dðÅpÇu� d=� ÃdV� v²NË t� XÝ« t²HN"ÅO?"«u?ðÅv� s¹«dÐUMÐ ÆœœdÖr?

∫t� r¹dO~Ð t−O²" sOMÇ

 ÁU?Öd¼ ‡‡ nB«

  

lim
x→x0

f(x) =0 Á—«uL¼ Ë   f(x) > 0 ® v?MF¹f(x)p?¹œe?" dH� tÐ X³¦� d¹œUI� UÐ 

∫ÁUÖÅÊ¬ ¨©œuý

  

lim
x→x0

1

f(x)
= +∞

 ÁU?Öd¼ ‡‡ »

  

lim
x→x0

f(x) =0 Á—«u?L¼ Ë   f(x) < 0 v?MF¹ ¨f(x)p?¹œe?" d?H?� tÐ vHM� d¹œUI� UÐ 

∫ÁUÖÅÊ¬ ¨œuý

  

lim
x→x0

1

f(x)
= −∞

x L1 2 2 / 5 2 / 9 2 / 99 2 / 999 L → 3 ← L 3 /001 3 /01 3 /1 3 / 5 4 L

x − 3 L −1 −0/ 5 −0/1 −0/01 −0/001 L → 0 ← L 0/001 0/01 0/1 0/ 5 1 L

1

x − 3
L −1 −2 −10 −100 −1000 L → −∞    + ∞ ← L 1000 100 10 2 1 L



ÅÅÅÅ±∞≥

∫bOM� tłuð d¹“ ÈU¼Å‰U¦� tÐ

lim
x→0

−

1

x
= −∞ ®»lim

x→0
+

1

x
= +∞ ®nB«

lim
x→0

−

−2

x
= +∞ ® lim

x→0
+

−2

x
= −∞ ®Û

lim
x→2

−11

(x −2)2
= −∞ ®Ãlim

x→−3
+

4

(x + 3)2
= +∞ ®À

lim
x→3

−

5

(x − 3)3
= −∞ ®ı

s¹d9

Æb¹—Ë¬ XÝœÅtÐ «— d¹“ ÈU¼bŠ “« p¹ d¼

  

lim
x→−2

−

4x

(x +2)2
 ®Ûlim

x→2
−

3

x −2
 ®»lim

x→1
+

2x + 3

x −1
 ®nB«

  

lim
x→2

−

−x + 3

(x −2)3
 ®Ã

  

lim
x→3

+

2x + 3

(x − 3)2
 ®À

  

lim
x→−1

+

−1

(x +1)2
 ® 

  

lim
x→0

−1

x4
 ®Œ

  

lim
x→

1

2

4

2x −1
 ®Õlim

x→2

3x + 5

x2 − 4
 ®ı

  

lim
x→1

−5x2

x2 −1
 ®—

  

lim
x→3

x +1

x2 −9
 ®–

  

lim
x→−1

1

(x +1)4
 ®œ

  

lim
x→π +

9

tan(3x −
π
3

) ®‘

  

lim
x→π +

2

tan2 x
 ®”

  

lim
x→π +

2

tan x
 ®“

  

lim
x→

π +

2

1

cosx
 ®◊

  

lim
x→0

−

1

sin x
 ®÷

  

lim
x→0

+
cot3 x ®’

  

lim
x→π −

3

tan x + 3

tan x − 3

 ®Ÿ

  

lim
x→0

+

1

1− cosx
 ®ÿ



ÅÅÅÅ±∞¥

 b?M?"U?� vFÐUð dÖ«y = f(x)b?M?"U� È«ÅÁ“UÐ —œ 

(a,+ ∞ ) v?~?"u?~?Ç r?O?¼«u?V?Ð Ë býUÐ Ábý n¹dFð

 ¯—e?Ð d¹œUI� È«dÐ «— Ê¬ —«œu/xÆrO¼œ hOVAð 

 d?¹œU?I?� Êb?ý ¯—e?Ð UÐ b¹UÐx r?O?¼œ h?O?VAð f(x)x →

→

1
x

x

y

U?¦?� È«dÐ ÆbM�Åv� dOOGð t"u~Ç lÐUð È«dÐ ‰

  
y =

1

x
  d?¹œUI� Êbý ¯—eÐ UÐ x ÈU?¼—«bI� ¨

  

1

x
pÇu� 

 ¯—eÐ d¹œUI� È«dÐ lÐUð s¹« —«œu/ Æb"uýÅv� p¹œe" dH� tÐ Ë b"uýÅv�xÆXÝ« ôUÐ qJý tÐ 

 7?:— UÐ bM¹uÖÅv� œ—u� s¹« —œx X?LÝ tÐ +∞ lÐUð —«bI� 

  
y =

1

x
Æœu?ýÅv� p¹œe" dH� tÐ 

 lÐUð d¼ È«dÐ vK� —uÞÅtÐy = f(x) Á“UÐ ÈË— t� (a,+ ∞ ) dOG²� Êbý ¯—eÐ UÐ Ë býUÐ Ábý n¹dFð x

 ÈU¼—«bI�f(x) bM"U� v�Uš œbŽ tÐ L t� È«Åt"uÖÅtÐ b"uý p¹œe" f(x)rO¼«uVÐ t� —«bI� d¼ tÐ b"«u²Ð 

 tÐL t� Ê¬ ◊dý tÐ œuý p¹œe" x 7:— UÐ rO¹uÖÅv� XBUŠ s¹« —œ ¨býUÐ Ábý ¯—eÐ v:U� Á“«b"« tÐ xÅ

 XLÝ tÐ+∞ ¨f(x) XLÝ tÐ L —œ lÐUð s¹« bŠ Ë œuýÅv� p¹œe" +∞ dÐ«dÐ L∫rO=¹u"Åv� Ë XÝ« 

lim
x→+∞

f(x) = L

 ∫‰U¦� È«dÐlim
x→+∞

1

x
=0

 b?M?"U?� vFÐUð dÖ« sOMâL¼y = f(x) b?M"U� È«ÅÁ“UÐ —œ (−∞ ,a)r?O?¼«uVÐ Ë býUÐ Ábý n¹dFð 

 ¯—e???Ð o???K???D???�—b???N ÿU???( “« v???H???M???� d??¹œU??I??� È«d??Ð «— Ê¬ —«œu??/ v??~??"u??~??Çxh???O??V??A??ð 

 d¹œUI� Êbý r� UÐ b¹UÐ ¨rO¼œx rO¼œ hOVAð ¨vHM� œ«bŽ« —œ f(x)‰U¦� È«dÐ ÆbM�Åv� dOOGð t"u~Ç Å

x→

→

1
x

x

y

 l?ÐU?ð d?¼ È«dÐ vK� —uÞ tÐy = f(x) Á“UÐ ÈË— t� (−∞ ,a)Êb?ý r?� U?Ð Ë býUÐ Ábý n¹dFð 

 lÐUð È«dÐ

  

y =
1

x
d¹œUI� Êbý r� UÐ xvHM� œ«bŽ« —œ 

Ë ÈU¼—«bI� ̈ oKD� —bN ÿU( “« U¼ÅÊ¬ Êbý ̄ —eÐ 

  

1

x

—«œu/ Æb"uýÅv� p¹œe" dH� tÐ Ë b"uýÅv� pÇu�

 ¯—eÐ d¹œUI� È«dÐ lÐUð s¹«xÆXÝ« qÐUI� qJý tÐ 

 7?:— U?Ð b?M?¹u?ÖÅv� œ—u� s¹« —œxX?L?Ý tÐ 

−∞ lÐUð —«bI� 

  

y =
1

x
ÆœuýÅv� p¹œe" dH� tÐ 



ÅÅÅÅ±∞µ

 d?¹œUI�x ÈU?¼—«b?I� ¨vHM� œ«bŽ« —œ f(x) b?M?"U� v�Uš œbŽ tÐ L t?� È«Åt?"uÖÅtÐ b"uý p¹œe" f(x)

 tÐ rO¼«uVÐ t� —«bI� d¼ tÐ b"«u²ÐL t� Ê¬ ◊dý tÐ œuý p¹œe" xÁbý r� vHM� œ«bŽ« —œ v:U� Á“«b"« tÐ 

 7:— UÐ rO¹uÖÅv� XBUŠ s¹« —œ ̈ býUÐx XLÝ tÐ −∞ ̈f(x) XLÝ tÐ LlÐUð s¹« bŠ Ë œuýÅv� p¹œe" 

 —œ−∞ dÐ«dÐ L∫rO=¹u"Åv� Ë XÝ« 

lim
x→−∞

f(x) = L

 ∫‰U¦� È«dÐ

  

lim
x→−∞

1

x
=0

 ‰U¦
±∫ d?Ö« ÆbÝ—Åv� VOÝ nB" p¹ d¼ tÐ ÆrOM�Åv� rO=Ið dH" Ëœ ÊUO� dÐ«dÐ —uÞÅtÐ «— v³OÝ ≤

 ÊUO� «— VOÝ≥ p¹ d¼ tÐ rOM� rO=Ið ÈËU=ð tÐ dH" 

  

2

3
 rO=Ið “« Ë bÝ—Åv� VOÝ ≥ ÊUO� VOÝ ¥rNÝ ̈ dH" 

 p¹ d¼

  

3

4
Ær?O?¼œÅv� t�«œ« dH" p¹ g¹«e:« qÐUI� —œ VOÝ p¹ ÊœËe:« UÐ «— rO=Ið s¹« ÆœuýÅv� VOÝ 

Á—ULý t� v�U~M¼Ï tÐ  «dH" ±∞∞ U¼ÅVOÝ œ«bFð bÝ—Åv� ππ dH" d¼ rNÝ Ë XÝUð 

99

100
=0/ 99œuýÅv� 

Á—U?Lý v²NË ËÏ  «dH" ±∞∞∞Á—U?Lý býUÐ Ï U¼ÅVOÝ πππ d?H" d¼ rNÝ Ë 

999

1000
=0/ 999—U?Jý¬ ÆXÝ« 

Á—ULý —bN d¼ XÝ«ÏrO¼œ t�«œ« ÊUMâL¼ «— b"Ë— s¹« dÖ« ÆœuýÅv� dðÅgOÐ dH" d¼ rNÝ œuý dðÅgOÐ  «dH" 

øbý b¼«uš tÇ dH" d¼ rNÝ ÂU$«dÝ

Á—U?Lý dÖ«Ï U?Ð «—  «d?H" x “« v?F?ÐU?ð t� «— dH" d¼ rNÝ Ë x U?Ð XÝ« f(x)r?O?¼«u?š rO¼œ ÊUA" 

∫Xý«œ

f(x) =
x −1

x

 lÐUð bŠ 7:U¹ ¨v¹UN" aÝUÄ f —œ +∞ »«uł Ë vÝ—dÐ ‰Ëbł p¹ qOJAð UÐ «— VKD� s¹« ¨XÝ«

ÆbOM� «bOÄ «—

 ‰U?¦
≤∫ l?ÐU?ð f(x) =
1

x
 d?¹œU?I?� Ë r?¹d?O?ÖÅv� dE"—œ «— f(x) È«dÐ «— x¯—e?Ð v?:U?� —b?NÅt?Ð ÈU¼

ÆrO=¹u"Åv� d¹“ ‰Ëbł —œ Ë rOM�Åv� t³ÝU×�

    

x L 10 100 1000 10000 100000 L → +∞

f (x) =
1

x
L 0/1 0/01 0/001 0/0001 0/00001 L → 0



ÅÅÅÅ±∞∂

x −2 −1 − 1

2
    0    

1

2
1 2

y − 1

2
−1 −2 2 1

1

2

n¹dFð

ÁbA"

O

y

x

 v²NË t� b¼œÅv� ÊUA" ‰Ëbł s¹«x XLÝ tÐ +∞ œË—Åv� 

  

1

x
∫vMF¹ ÆœuýÅv� p¹œe" dH� tÐ 

lim
x→+∞

1

x
=0

 d¹œUI� sOMÇÅr¼f(x) È«dÐ x‰Ëbł —œ Ë t³ÝU×� «— bM²=¼ ¯—eÐ oKD�—bN ÿU( “« t� vHM� ÈU¼

∫rO=¹u"Åv� d¹“

 v??²??NË œu?ýÅv?� Áb?¹œ t?� È—u?ÞÅt?Ðx X??L?Ý t?Ð −∞ ¨œË—Åv?� 

  

1

x
 t??Ð ∞v??M??F?¹ œu?ýÅv?� p?¹œe?" 

  

lim
x→−∞

1

x
=0

∫r¹—«œ s¹«dÐUMÐlim
x→−∞

1

x
=0         Ë  lim

x→+∞

1

x
=0

—œ t?� b¼œÅv� ÊUA" eO" lÐUð —«œu/x Ë ¯—e?Ð X³¦� ÈU¼x¨¯—e?Ð oKD�—bN ÿU( “« vHM� ÈU¼

f(x) tÐ ∞ÆœuýÅv� p¹œe" 

    

x −∞ ← L −100000 −10000 −1000 −100 −10 L

f(x) 0 ← L −0/00001 −0/0001 −0/001 −0/01 −0/1 L



ÅÅÅÅ±∞∑

∫t� b¼œÅv� ÊUA" ôUÐ ‰Ëbł

lim
x→+∞

2x −1

x +2
= 2       ,       lim

x→−∞

2x −1

x +2
= 2

∫t?²?J� t?� r¹b¹œ 

  

lim
x→+∞

1

x
=0 Ë 

  

lim
x→−∞

1

x
=0 s?O?M?ÇÅr¼ ÆXÝ« 

  

lim
t→0

t =0 d?Ö« fÄ ¨

  
t =

1

x

∫Xý«œ rO¼«uš

lim
x→± ∞

1

x
= lim

t→0

t =0

t³ÝU×� Ê«uðÅv� dOG²� i¹uFð s¹« “« ÁœUH²Ý« UÐ VOðdð s¹« tÐÏ —œ bŠ ∞t³ÝU×� tÐ «— ÏdH� —œ bŠ 

  (t →0)ÆbO"«œdÖ“UÐ 

 bŠ ôUÐ VKD� “« ÁœUH²Ý« UÐ pM¹«

  

2x −1

x +2
 —œ «— ± ∞Ær¹—Ë¬Åv� XÝœÅtÐ 

2x −1

x +2
=

x(2−
1

x
)

x(1+
2

x
)
=

2−
1

x

1+
2

x

  ,   x ≠0

  

1

x
= t  ⇒  lim

x→± ∞

2x −1

x +2
= lim

t→0

2− t
1+2t

=
2−0

1+0
= 2

 —œ ôUÐ d=� bŠ s¹«dÐUMÐ± ∞ UÐ dÐ«dÐ ≤ÆXÝ« 

 ‰U¦
¥∫ bŠ 

  

6x −1

2x + 3
 —œ «— ± ∞ÆbOM� sOOFð 

∫Xýu" Ê«uðÅv�

  

6x −1

2x + 3
=

x(6 −
1

x
)

x(2+
3

x
)
=

6 −
1

x

2+
3

x

  ,   
1

x
= t

 ‰U¦
≥∫ lÐUð —œ f(x) =
2x −1

x +2
 “« v¹U¼—«bI� È«dÐ «— lÐUð d¹œUI� xr¹«Åt²ýu" d¹“ ‰Ëbł —œ t� 

 —œ «— lÐUð bŠ Ê¬ ÈË— “« Ë rO=¹u"Åv� œuš ÈUł —œ Ë rOM�Åv� t³ÝU×�+∞ —œ −∞ÆrOM�Åv� hVA� 

    

x    − ∞    ← L −100000 −10000 −1000 −100 0 100 1000 10000 100000 L → +∞

f (x)    2    ← L 2 /00005 2 /0005 2 /005 2 /05 −
1

2
1 / 951 1 / 995 1 / 9995 1 / 99995 L → 2



ÅÅÅÅ±∞∏

  

lim
x→± ∞

6x −1

2x + 3
= lim

t→0

6 − t
2+ 3t

=
6 −0

2+0
= 3

  

⇒  lim
x→± ∞

6x −1

2x + 3
= 3

 ‰U¦
µ∫ d=� 

  

−2x2 + x −1

x2 + 7x +2
 —œ «— d=� s¹« bŠ rO¼«ušÅv� ÆXÝ« Ábý Áœ«œ ± ∞ÆrOM� sOOFð 

 ÊuÇ  x ≠0¨XÝ« 

  

−2x2 + x −1

x2 + 7x +2
=

x2(−2+
1

x −
1

x2
)

x2(1+
7

x +
2

x2
)

  

1

x
= t  ⇒  lim

x→±∞
f(x) = lim

t→0

−2+ t − t2

1+ 7t +2t2
=
−2+0−0

1+0+0
=
−2

1
= −2

  

⇒  lim
x→±∞

−2x2 + x −1

x2 + 7x +2
= −2

 ‰U¦
∂∫ bŠ 

  

3x +1

x + x +1
 —œ «— +∞ÆrOM�Åv� sOOFð ¨

  

3x +1

x + x +1
=

x(3 +
1

x
)

x(1+
1

x
+

1

x2
)

    ,     
1

x
= t     ,     0 < t

  

⇒  lim
x→+∞

f(x) = lim
t→0

+

3 + t

1+ t + t2
=

3

1
= 3

→

x →

2x

x

y

 —œ lÐ«uð bŠ t³ÝU×� —œ+∞ Ë −∞ d¹œUI� Êbý ¯—eÐ UÐ XÝ« sJ2 x ÈU¼—«bI� ¨f(x)tÐ 

 d¹œUI� Ë b"uA" p¹œe" v�Uš œbŽf(x)dðÅ¯—eÐ È«ÅÁbý Áœ«œ gOÄ “« œbŽ d¼ “« Ë b"uý ¯—eÐ eO" 

ö?¦� Æb"uýÎ l?ÐUð œ—u� —œ   
y = x2

 Êb?ý ¯—e?Ð U?Ð Ë X?Ý« qJý sOL¼ tÐ XOF{Ë x —«bI� ¨  x2
e?O" 

ÊUA" «— VKD� s¹« eO" lÐUð —«œu/ ÆœuýÅv� dðÅ¯—eÐ È«ÅÁbý Áœ«œ gOÄ “« œbŽ d¼ “« Ë œuýÅv� ¯—eÐ

Æb¼œÅv�



ÅÅÅÅ±∞π

 7:— UÐ t� XÝ« Ê¬ ÈUMF� tÐ s¹«x XLÝ tÐ +∞ ̈  x2
 XLÝ tÐ eO" +∞vK� XBUŠ —œ ÆœË—Åv� 

 lÐUð p¹ È«dÐf Á“UÐ p¹ —œ t� (a,+∞ ) 7:— UÐ dÖ« XÝ« Ábý n¹dFð x XLÝ tÐ +∞ ¨f(x)tÐ eO" 

 XLÝ+∞ —œ lÐUð s¹« bŠ rO¹uÖ ÆœËdÐ +∞ ¨+∞∫rO=¹u"Åv� Ë XÝ« 

lim
x→+∞

f(x) = +∞

 ‰U¦� È«dÐlim
x→+∞

x2 = +∞Æ

 7:— UÐ dÖ« U�«x XLÝ tÐ +∞ ¨f(x) XLÝ tÐ −∞ —œ lÐUð s¹« bŠ rO¹uÖ ÆœËdÐ +∞ ¨−∞

∫rO=¹u"Åv� Ë XÝ«

lim
x→+∞

f(x) = −∞

 ‰U???¦???� È«d???Ðlim
x→+∞

− x2 = −∞ r????O???¼U???H???� t???ÐU???A???� q???J???ý t???Ð Ælim
x→−∞

f(x) = +∞Ë 

lim
x→−∞

f(x) = −∞ö¦� Æb"uýÅv� n¹dFð Î 

  

lim
x→−∞

x2 = +∞ Ë 

  

lim
x→−∞

− x2 = −∞Æ

 ‰U¦
±∫tDI" Ï XÐUŁ A ÷dŽ tÐ «— ± —u×� ÈË— ytDI" Ë U¼Ï dOG²� M ‰uÞ tÐ «—   (x > 0)xÈË— 

x

y

A

x MO

1

 jšÅÁ—UÄ ‰uÞ dÖ«AM “« vFÐUð t� «— x XÝ« f(x)∫Xý«œ rO¼«uš ¨rO�UMÐ 

  f(x) = x2 +1

«d¹“

    OA =1 ,  OM = x  ,  AOM
∧

= 90
o  ⇒  AM2 = OM2 +OA2

                             = x2 +1

t−O²"—œ

AM = x2 +1

 “« t?²?:dÖ dE"—œ U¼Å‰uÞ —u×�A tÐ MÆr?OM�Åv� q�Ë 

 j?šÅÁ—U?Ä ‰u?Þ  «d?OOGð ÁUÖÅÊ¬AM‰u?Þ  «d?OOGð UÐ «— 

 jšÅÁ—UÄOMg¹«e:« UÐ t� œuýÅv� Áb¹œ ÆrOM�Åv� t=¹UI� 

 ‰u?ÞOMÁ“«b"« Ï j?šÅÁ—U?Ä AMË b?ÐU?¹Åv?� g?¹«e:« eO" 

t?D?I?" t� v�U~M¼Ï M —u?×?� X³¦� XNł —œ x—U?O?=Ð U¼

 v?MF¹ ¨œuý —Ëœx X?LÝ tÐ +∞œËd?Ð Á“«b"« ¨Ïj?šÅÁ—UÄ 

AM XLÝ tÐ eO" +∞ÆœË—Åv�


